A\N~<n~>-mhl§_&b©m~\5&\w_v — AN~<R>%M%|§_&DQM§~&NV_ = A\C\ A‘N~S~>-mwl§_&\~0m~\<~&\w_v — AM~<“~>%MwI&\b_&DOm~<~&NV_ = A\C\ A4~<E>MMMI§_&DQM~\<~&\~_V — Ad~<n~>-m~wl§_&b0m~\5&xv_ = A\Cmﬁ

N N > > > > >~ N >~
A I v A I v A I v
= = = = = = = = e
g 8 e 8 5 S 5 g 2 8 8 g 8 e 8 5 S 5 g 2 8 8 g 3 e 8 5 S 5 g 2 g8 8
- =) =] =] =] =] < ? < ? - - =) =] =] =] =] < ? ? ? - - =) =] =] =} S ? ? ? < -
1 1 1 1 1 1
o} 5] 5] 5] o} ol 5] 5] & 5] 5] & o} G 5] 5] 5} o} 5] o} G 5] 5] 5] o} ol
- .} - - - .} | - - | | - - .} - | - - - - - | - - - .}
a8 a a a a a a8 a a ca ©o oo cd o©o oo cd ©o oo a a a a a a8 a a a8 ca ©o oo co ©o oo oo o©o oo a a a a8 a8 a a a a oo oo co ©o oo ca o©o oo
: 2 2 2 2 2 2 2 2 g2 gZ ge gk st 5= g2 ge oo : 2 2 2 2 2 2 2 2 g2 gf ge gk st gz g2 ge oo e & . & & & =& =& =& g2 o2 o TE ge oo g o
OEo OQOEo 0QOE9 OEQ OQOE9 OQOEo OEe 0QOE9 QEo OEQ OQOEo 0OE9 OEe 0QOE9 QEo OEe DOE9Q OQEo OEe 0QOEQ 0QEo OEQ QOEQ 0OE9 OEe 0QOEQ QEo OEe DOE9Q 0QEo OEe 0QOEo 0QOEo9 OEe 0QOEQ QEo OEe 0QOE9 QEo OEe OE9Q 0QOEo OEQ 0QOE9 OQOEo OEo 0QOE9 OEo OQOEo OE9 OEe 0QOE9 QEo
22S PES Bas RES BES RES B8S RES 28 _PES _BRS pES _PES PES BRSPS _pEc gEs PES RPas PES R2ES B2ES 23S 28c R2ES 28BS _pES 2ES _PES _B2ES pES 2RSS _pES _gEc _pEs 22S R2ES PES RES 28S R2ES 28 pES 28 22S _PES _BES _pPES _2ES _pES _BES _pES
o o o o o o o o o bl o = o = o Pt o = o == o —_ o = o = o o o o o o o o o o —_ o = o = o bl [ B o = o bt o = o == o o o o o o o o o o =t o = o bl o = o = o Pt o == o = o
£e€ B8R 8@ 88 8% gZBR 28R ZB8R® 8% GZeg UzeR UZeR UZeR GZeg 9zeR JzeR YZeR GEeR £8% B8 8% 288 8% 88 B8R 8% 8% UZe® UZeR 9ze€ Uze® JzeR 9ZeR 9zZeR GZeR JzeR £2% 88 8% o€ £B8% 88 Z8® 8% gZeR Ggeg 9Ze® 9zeR Gze® Jze¥ Gzeg YzeR GzeR
S22c 283 22828c 5285 238c S283= 233 222= S83= SI/S SIS SIBE  SIJ= SIS S/ S SIBE S2B= S22 988 222& 383 2299c 3283 288£ 223= 388 S22%c 338 S99 S33c 538 2223 88 S99s S33< 225 238 228985 3223 383£ 223 388 2828= 388< S22c S88c S92c S33c S88: S33c 588 S8%s
L1 11 L1 1.1 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 1.1 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 11 L1 11 L1 1.1 L1 1.1 L1 1.1 L1 11 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 11 L1 11 L1 11 L1 1.1 L1 1.1 L1 11 L1 11
< HNEE [ [ 11 [ [ [ ] [ [ [ [ ] - Path 1280 (no PMTUD), LGl S [ [ [ | ] [ [ [ [ ] | [ | Ll [ ] - Path 1280 (no PMTUD), LGI < HNEN [ [ ] [ [ [ [ ] - Path 1280 (no PMTUD), LGI
¢ meEE EEEE ] EEEE - 1280 (no PMTUD), LGI § ] [ 1 [ [ ] HE [ 1] - 1280 (no PMTUD), LGI S| . [ [ 1] ] - 1280 (no PMTUD), LG
g = EEEE N NN - 1280 (PMTUD), LGI g rrmm . EEEE ] N - 1280 (PMTUD), LGI g momm EEEE - 1280 (PMTUD), LGI
gl = [ [ [ [] [ | [ [ [ [] - s 8 | || [ [ [ [] || = , g . [ [ [ [] - )
X Ui X Wi W
8ol m EEEE - EEEE L Path 1280 (no PMTUD), LGI 8 g N EEEE u mm L Path 1280 (no PMTUD), LGI S of momm EEEE L Path 1280 (no PMTUD), LGI
2 EEEE u EEEE - 1280 (no PMTUD), LG 23 N EEEE N N - 1280 (no PMTUD), LGl QY mm EEEE - 1280 (no PMTUD), LG
ggn EEEE u NN - 1280 (PMTUD), LGI R I . T T ] . - 1280 (PMTUD), LGI g g EEEE - 1280 (PMTUD), LGI
L EEEE u EEEE L 1500, LG 3 rmm N EEEE ] T - 1500, LGl 33 = EEEE - 1500, LGl
of I [ [ | [ | -] - Path 1280 (no _u_,\_._.c_uw_ LGI o H — Path 1280 (no _u_s.ﬁcow_ LGl of 1 — Path 1280 (no _uz_.ﬁcow, LGI
b E ] BN L 1280 (no PMTUD), LG o u L 1280 (no PMTUD), LG ol W L 1280 (no PMTUD), LG
L E = A : E 2 i L i e
glm ] | - ) 8 ] - _ gl = - _
K [ 1] [ ] [ 1 [ [ ] - Path 1280 (no PMTUD), LGl S [ 1 [ [ ] - Path 1280 (no PMTUD), LGl S - Path 1280 (no PMTUD), LGI
= EEEE EEEE - 1280 (no PMTUD), LGI 5 | [ 1] - 1280 (no PMTUD), LGI g - 1280 (no PMTUD), LGI
2 [ [ [ [ [T 1] - 1280 __H_W\__._.C_uv_ LGI 5 [ [T 1] - 1280 __wn_w\__._.c_uv_ LGI 5 - 1280 __wn_,w\__._.cov. LGI
3 EEEE EEEE - 1500, a EEEE L 1500, z [ 1500,
0 [ [ ] [ ] [ [ [ [ ] - Path 1280 (no PMTUD), LGl ©o [ [ [ ] ] [ [ | - Path 1280 (no PMTUD), LGI © Y - Path 1280 (no PMTUD), LGI
a = [ 1] [ ] [ 1 [ [ ] - 1280 (no PMTUD), LGI s S [ 1] [ ] - 1280 (no PMTUD), LGI b & - 1280 (no PMTUD), LGI
=g RN ] L 1280 (PMTUD), LGI 3 EEEE ] T L 1280 (PMTUD), LGl :3 L 1280 (PMTUD), LGI
3 EEEE EEEE L 1500, LG 3 EEEE ] EREE - 1500, LGI a L 1500, LG
o | | [ | ] - Path 1280 (no _u_<_._.c_uw_ LGl of [ T[] H | IEEE | EEEE HEEE  EEEE [ T[] - Path 1280 (no _uz_._.cow_ LGI o - Path 1280 (no _uz_._.cowg LGI
2 EEN - 1280 (no PMTUD), LG B EEEE HE | EEEN | BN EEEE | EEEN ] - 1280 (no PMTUD), LG B - 1280 (no PMTUD), LG
4s E E A : - o E g e L g e
g - 1500, 2 - 1500, 8 - 1500,
m [ ] [ [ [ [ ] [ [ [ [ ] - Path 1280 (no _u_,\_._.c_uw_ LGI m [ [ [ [ ] [ [ [ [ ] - Path 1280 (no _u_s.ﬁcow_ LGI m [ | - Path 1280 (no _uz_.ﬁcow, LGI
S EEEE EEEE - 1280 (no PMTUD), LG 9 EEEE EEEE - 1280 (no PMTUD), LG = - 1280 (no PMTUD), LG
1% [ [T T[] [ [T 1] - 1280 (PMTUD), LGl 1% [ [T 1] [ [ T[] - 1280 (PMTUD), LGI @l - 1280 (PMTUD), LGI
am EEEE EEEE - 1500, LG a EEEE EEEE L 1500, LGl 2w [ 1500, LGI
< 8 = [ [ [ [ ] [ [ [ [ ] - Path 1280 (no PMTUD), LGl < [ [ [ [ ] [ [ [ [ ] - Path 1280 (no PMTUD), LGI < 8= - Path 1280 (no PMTUD), LGI
s qm= EEEE EEEE L 1280 (no PMTUD), LGI a9 EEEE EEEE L 1280 (no PMTUD), LGI F= L 1280 (no PMTUD), LGI
=49 = EEEE EEEE L 1280 (PMTUD), LGI =3 EEEE EEEE L 1280 (PMTUD), LGI =g L 1280 (PMTUD), LGI
alm EEEE EEEE L 1500, LG a EEEE EEEE - 1500, LG alm - 1500, LGI
o | EEEE L Path 1280 (no PMTUD), LGI o EEEE EEEE L Path 1280 (no PMTUD), LGI o L Path 1280 (no PMTUD), LGI
o EEEE EEEE - 1280 (no PMTUD), LGI 5 EEEE HE - 1280 (no PMTUD), LGI 5 - 1280 (no PMTUD), LGI
g NN EEEE - 1280 (PMTUD), LG Z EEEN o mm - 1280 (PMTUD), LG 2 - 1280 (PMTUD), LG
] [ ] [ [ ] B ’ | [ [ ] B ’ i B ’
o EEEE EEEE - Path 1280 (no PMTUD) o EEEE EEEE - Path 1280 (no PMTUD) <l m - Path 1280 (no PMTUD)
9= EEEE EEEE - 1280 (no PMTUD) g EEEE EEEE - 1280 (no PMTUD) d = - 1280 (no PMTUD)
g m EEEE EEEE - 1280 (PMTUD) 2 EEEE EEEE - 1280 (PMTUD) gl = - 1280 (PMTUD)
Zl m EEEE EEEE - E EEEE EEEE - &l = -
X Wi ¢ Wi ~ W
Sofm EEEE EEEE - Path 1280 (no PMTUD) 3 o EEEE EEEE L Path 1280 (no PMTUD) Sofm L Path 1280 (no PMTUD)
DY EEEE EEEE L 1280 (no PMTUD) @ EEEE EEEE L 1280 (no PMTUD) D m L 1280 (no PMTUD)
S g W EEEE EEEE - 1280 (PMTUD) S 5 EEEE EEEE - 1280 (PMTUD) T 5 - 1280 (PMTUD)
L EEEE EEEE - 1500 33 EEEE EEEE - 1500 a3 = - 1500
of I L] - Path 1280 (no PMTUD) o — Path 1280 (no PMTUD) of I - Path 1280 (no PMTUD)
| : i 3 Lhiy i
a | [ ] HE - 1280 | | ] - 1280 || - 1280
gl | HE L 1500 & [ L 1500 gl = L 1500
w9 EEEE EEEE - Path 1280 (no PMTUD) o EEEE L Path 1280 (no PMTUD) o EEEE L Path 1280 (no PMTUD)
£ 3 [ T 1T 11 | T 111 - 1280 (no PMTUD) S [ T[] - 1280 (no PMTUD) S| [T - 1280 (no PMTUD)
c 3 EEEE EEEE L 1280 (PMTUD) w9 EEEE - 1280 (PMTUD) 3 EEEE - 1280 (PMTUD)
E 3 EEEE EEEE - 1500 £ 3 EEEE - 1500 3 EEEE - 1500
O «©
Do EEEE EEEE L Path 1280 (no PMTUD) Eo g EEEE 1| L Path 1280 (no PMTUD) o EEEE L Path 1280 (no PMTUD)
e 5 EEEE EEEE L 1280 (no PMTUD) oz = EEEE ] ] L 1280 (no PMTUD) & EEEE L 1280 (no PMTUD)
il EEEE EEEE - 1280 (PMTUD) T=5 EEEE u . - 1280 (PMTUD) =3 EEEE - 1280 (PMTUD)
= 7 EEEE EEEE - 1500 % 3 EEEE ] EEEE - 1500 3 EEEE - 1500
© o
«0 o HE - Path 1280 (no PMTUD) "_ o HEN HEN HE BN HEN [ [ | [ [ | | BN | [ | - Path 1280 (no PMTUD) R o | [ | - Path 1280 (no PMTUD)
.m 9 II“ — B .A_mww Mm@_ ﬂ_k_mvcov © 9 me HAEEE  EEER — HEEE  EEEER Illl HAEEN  EREN | N HAEEE  EEER — AREN  EEEN L HAEEN RN - ﬁmmm Mm@_ .__U.R_W";Q m 2 [ | | — B “mmm Mm@_ ﬂ,_\_mvc_uv
- o - - - - -
o g ] (] - 1500 5 8 ([ ] [ [ ] - 1500 g g - 1500
w —
% g T[] EEEE - Path 1280 (no PMTUD) E 8 EEEE EEEE - Path 1280 (no PMTUD) S 8 EEEE - Path 1280 (no PMTUD)
Z EEEE EEEE - 1280 Mm@_ w_k_mvcg o3 EEEE EEEE - 1280 Mm@_ wz%g 7 3 EEEE - 1280 Mmﬂ_,u\_ ﬂ_\_%g
[72) I I o [2) I I — [2) I —
e 3 EEEE EEEE - 1500 2 o= EEEE EEEE - 1500 g 3 EEEE - 1500
=} =
Qs EEEE EEEE - Path 1280 (no PMTUD) M4 o EEEE EEEE - Path 1280 (no PMTUD) 8. EEEE - Path 1280 (no PMTUD)
g4 3 AEEE EEEE [ 1580 (Purun) §e4 5 EEEE EEEE [ 1280 (Purun) 5% 5 EEEE [ 1280 (Pun)
- o — - J — - 79 —
w 3 EEEE EEEE - 1500 o oroEm EEEE EEEE - 1500 w o EEEE - 1500
[}] [}] (]
c o L] [ ] [ 1 [ [ ] - Path 1280 (no PMTUD) c o [ 1] [ ] L[] [ ] - Path 1280 (no PMTUD) c o [ 1] [ ] - Path 1280 (no PMTUD)
o o EEEE EEEE L 1280 (no PMTUD) o 7 EEEE ] L 1280 (no PMTUD) o g EEEE L 1280 (no PMTUD)
N 3 EEEE 1| EEEE L 1280 (PMTUD) N g EEEE L 1280 (PMTUD) N g EEEE L 1280 (PMTUD)
Z 9 = EEEE — EEEE - 1500 - EEEE N - 1500 Z 9 = EEEE - 1500
N—m”o.wzom Nmmﬁ“mmZDm mmov“mmzom N—muo.wzom Nnmﬁ”o.wzom mmov“mwzow Nrm“o.wzow NmN_—“mmZQm wmov”mwzom N_vm”o.wznm Nmm__v“mwzow mmoﬁmen_m N—m“o.mzn_m NmN_tmen_m mmov“c.wzow N—m”o.wzow NmN_—“men_m wmov”mmznm Nrm“o.wzow NmN_—“mmZQm wmov”mwzom N_vm”o.mzom wa__.“mwzow mmoﬁmmzn_m Nrm“o.wzom NmN_tmen_m mmov“c.wzow N—m”o.wzom Nmm_—“meDm omov”mmzom N—m“o.mzom anﬁ“c.wzom mmcv“mwzow Nrm“o.wzow wa_tmmzom wmov”mwzom Nrm“o.wzom NmN_tmen_m mmov”o.wzom N—m”o.wzom Nmmﬁ“mmzn_m omov“mmzom N—muo.wzom anﬁ”o.wzom mmcv“mwzow Nrm“c.mzow NmN_tmmZn_m wmov”mwzom m_vm”o.wznm Nmm__v“mwzow mmoﬁmeQm N—m“o.mzn_m NmN_tmen_m mmov“o.wzow

PAdI ONdI MoeIS-end PAdI 9Adl 3oels-leng PAdI ONdI SoeIS-eng PAdI ONdI SoeiS-eng AdI 9NdI 3oelS-fena pAdI ONdI Moeis-fena



